Mutual Fund Course 300 Answers

Course 301

1. C is correct. You often get better short-term results as you are likely to own something that is doing well. Diversification lowers long-term volatility as different investments move in and out of favor. But diversification doesn't mean you'll never lose money.

2. A is correct. Very short-term investments, such as money-market funds, are the only ways to truly safeguard against losses. Sometimes even the best-diversified portfolio loses money.


3. C is correct. Diversifying by investment and asset class are most important. Diversifying by sub-asset class is secondary.


4. B is correct. Owning multiple companies is diversification by investment, while owning a mix of growth, value, and international stocks is generally seen as diversification by sub-asset class. 


5. C is correct. There are no “must-own: types of funds; assembling a portfolio of mutual funds is a matter of personal taste and personal goals. However, be aware of your options so that you can appropriately choose what you should and shouldn't own.
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1. C is correct. Investing is about compromise. You can't have everything. Low risk and high returns rarely go together.


2. A is correct. Your core funds should be your portfolio anchors, the funds you rely on to reach your goals. For many, large-cap funds fill the bill. Emerging-markets and tech funds are too risky to be at the core of most investors' portfolios.


3. C is correct. Core funds shouldn't be exciting. They are reliable stock funds and bond funds. Excitement and variety should come from your noncore holdings.


4. A is correct. You don't need noncore funds, and if you are investing in a tax-deferred account, taxes don't matter to you.


5. C is correct. It depends on the funds. If the 10-fund portfolio owns all large-cap growth funds and the two-fund portfolio contains a broad-based index fund and a bond fund, the latter would be more diverse. More funds doesn't necessarily mean more diversification.


Course 303

1. B is correct. It's hard to choose among the hundreds of index funds, and not all index funds are tax friendly. But a good index fund is a low-maintenance investment; asset growth and manager changes don't matter, and it won't change its investment style.


2. C is correct. Not all index funds are cheap--not even all large-blend index funds. Index funds in the large-blend category can follow different indexes--the most common of which is the S&P 500.


3. A is correct. Small-cap index funds reap big taxable gains when companies grow too large for the index, forcing the fund to sell those stocks. Large-cap and S&P 500 index funds sell stocks when they fall out of the index, meaning they only sell small positions.


4. C is correct. Given that index-fund managers aren't actively researching and selecting stocks, all index funds ought to be cheap. Too bad not all of them are.


5. B is correct. The Russell 2000 is the most commonly used index for tracking small-company stocks.
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1. C is correct. Although most SRI funds shun tobacco, alcohol, and nuclear-weapons manufacturers, they can screen on dozens of different criteria. There's no single approach. 

2. B is correct. . Although generally considered to be unfriendly to the environment, an oil company could be held in an environmentally concerned SRI fund if that fund takes a relative approach. That's why it's important to understand how a fund's screens work.

3. A is correct.  Some SRI funds engage in shareholder activism to reform companies. Others simply shun those companies.

4. C is correct. . These funds are often smaller than non-SRI funds and therefore don't enjoy the same economies of scale. Further, some SRI funds charge higher management fees, taking into account the added costs of SRI screening and research.

5. A is correct. . Building an all-SRI portfolio can be difficult. There just is not an abundance of good choices in some areas of the market, especially bonds and international stocks.
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	1. C is correct. . Many international funds do well when U.S. funds aren't doing quite as well. As a result, they offer both good return potential and diversification.

2. C is correct. While you should certainly examine a fund's Morningstar rating and its past returns, you must also understand how the fund invests--the sort of companies it owns and the countries they're from.

3. A is correct. Emerging-markets stocks behave unlike U.S. stocks and thus make great diversifiers. They also can post exhilarating returns. But they're exceptionally high risk because of their volatility.

4. B is correct. Funds with substantial emerging-markets positions may not be categorized as emerging-markets funds. Check the fund's exposure to Latin America and the Pacific Rim to get a sense of how much it invests in emerging markets.

5. C is correct. A Latin America fund is both a regional and emerging-markets fund at the same time, and it would therefore be the most volatile of the group.
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1. C is correct. During some time periods, international small-cap funds may outperform international large-cap funds; during other periods, they'll underperform. But they always tend to be more volatile.
2. A is correct. Although most international funds used to invest mostly in moderately priced large companies, today's international funds can invest in growth or value stocks from large or small companies.
3. C is correct. You get the stock's return along with the change in value of the local currency versus the U.S. dollar.
4. B is correct. . While you've lost money on the stock, you made a profit on the pound's rise against the dollar.
5. A is correct. Because you've hedged your currency exposure, it doesn't matter what the pound does; your returns are affected only by the stock's performance--and in this case, that means you've lost money.
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1. B is correct. When interest rates rise, bond prices fall. Bond prices and interest rates have an inverse relationship.

2. A is correct.  Duration measures a bond's interest-rate sensitivity. Credit quality is itself a measure of the creditworthiness of the company, say, that issued the bond. Yield is based on the dividend the bond pays to its owners.

3. C is correct. Duration is the indicator of interest-rate risk. The longer the duration, the more sensitive a fund is to interest-rate changes.

4. A is correct. Credit quality is the indicator of credit risk. A fund with an average credit quality of B is taking on more credit risk than one with investment-grade quality such as A or AAA.

5. C is correct. Lower-rated high-yield bonds will do poorly during a recession, as issuers will have a tougher time meeting their high debt payments.
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1. A is correct. While examining total return and expenses is important, our style boxes show the characteristics of the securities that funds own--in this case, duration and credit quality.

2. C is correct. To overcome high expenses, bond fund managers generally take on more risk to keep their yields and returns competitive.

3. B is correct. Fund A is losing its principal (its yield is greater than its total return). Fund C is treading water. Fund B is generating more total return than yield and is thereby increasing its income payouts over time. Always focus on total return, not just yield.

4. C is correct. First of all, this fund is the lowest cost of the group, and cost is the most important factor when evaluating bond funds. Next, its duration is lower than fund A's, so it's not taking on as much interest-rate risk as Fund A is.
5. A is correct. Yield is nothing more than a percentage of principal, so it's more important to examine a fund's total return than its yield. Further, expenses are perhaps the most important factor to consider when investing in bond funds.
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1. B is correct. The after-tax yield on the corporate bond fund is just 5.4% (or 7.5% x 0.72) while the after-tax yield on the municipal bond fund is its stated yield of 6.0%.

2. C is correct. Corporations issue corporate bonds while the U.S. Treasury issues Treasuries.
3. C is correct. With their shorter durations, intermediate-term funds are less sensitive to interest-rate movements and are therefore less volatile. Yet intermediate-term funds have been competitive when it comes to their returns. 

4. A is correct. Insured bonds are the highest-quality possible in the municipal-bond landscape, and high-quality bonds generally yield much less than lower-quality bonds. Lower-quality bonds yield more because of their credit risk.

	5. C is correct. For most, Fund C, a low-cost, intermediate-term fund of reasonably high credit quality is the best choice.
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